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ECONOMICS
Paper 11
Time : 3 Hours Maximum Marks : 100
Note :— Attempt Five questions in all. Question No. 1 is

compulsory. All guestions carry equal marks.
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1. Explain the problem of twin-balance sheet 1n India and
describe how the Insolvency and Bankruptcy Code (IBC)
will help in addressing the problem in the country.

Delineate the basic features of IBC. T+7+6
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( 2 ) Eco.-IT
Define the concept of meta-preferences for son in India.
How this attenuates the problem of gender inequality
in the country ? Does the problem of meta-preference
for son is more prevalent in urban India ? 6+7+7
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What i1s the concept of inflation targeting ? Describe
the role and functions of Monetary Policy Committee
in keeping inflation under control in the country. Does
this committee has some success in its objectives in

the country ? 6+7+7
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( 3 ) Eco.-11

Explain the major factors that affected the growth rate

of the economy in post-independence India till 1991. 20
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Is it necessary to have high minimum support prices
(MSP) for doubling farming income in India ? Explain.
Examine the merits and demerits of MSP as it induces

distortions in the functioning of the economy. 20
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Explain the GST implementation in India. Is it really

a good and simple tax ? Explain. 20
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( 4 ) Eco.-II

7. What 1s universal basic income ? Can it help in alleviating
the fears arising from the automation of Indian

economy ? 20
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8. Write notes on the following : 10+10
(@@ Labour regulations and industrial performance
() Role of MSMEs in Indian export
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(4) MSMEs &t 9Rag f4aida o yfigest
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